00000 40000000

2016 0 70 210

00 S = {red,blue,green,yellow} 00000000000 SOO00O0O0OOD0OOOO

(1) P, = [{red}, {blue, green}]
(2) Py = [{red,blue, green, yellow}]
(3) P3 =[0,{red,blue}, {green,yellow}]|

(4) Py = [{blue}, {red, yellow, green}]

o0 S={1,23}00000000000

ooooobogoo

(1)XDDDDDDDDDDDDD
Ryin = {(z,2);z € X}

0 X0O0O00OoooooooXoOooooooooO ROODDOORyw CROOODOODO



O00R,, 0 XO0ODOOODOOOODOOODO

(2) XO00ODODDOOoOOooooooo

Rpax = X x X

D0XO00O00000000XO000000000 ROODOOORC Ry 0000000
O000R,.,.0 XO00OOODOOOOODOOOOO

(3) 0000000000000 O0
Ry =A{(z,y);z,y € Z,x —yOd nO00 }
0OzO00O0ODOOOoOOoOoOoOoOooOoOo xR(n)yIZI
x =y (modn)

Ubbdz0DyUOnDOOD0DOOODOOODODOOO

()00 f: X —>YODOOOO

Ry ={(z,y)iz,y € X, f(z) = f(y)}

O XOOooooooooo

4
ROOD XO0OOOOOOOOOOOODOOOOOOO000O0000000
(1) Ve e X : x € [z]
(2) Vo,y € X : (zRy & [7] = [y])
(3) Ve,y e Xt (z € [y] & [z] = [y])
(4) Vz,y € X : (2] N[yl # 0 = [2] = [y])

(5) Ve,y e X : (zRy < Jz € X :x € [2] Ay € [2])



